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4. 242007 —x+3=0= 2y +x2y + 292 +4x39' —1 =0

5 . 5 . 1—2xy —2y?
= (:-:* + 4.1:}’) V=1-2xy—-2y =y = - -
X (x4 4y)

X = (2:«::’1 + 3}-“1) =x2/7 = 4x 4 6y’ = %.1;—3;"5

5 2(1-10557)

. 1—10x%7°
— —4x = = ¥V =
51—3;5

553/3 15x3/9y

= 6y’ =

16. x + > =cosxy = 1 + 2py' = (—sinxy) (v + x5/

. ) . ) yvsinxy + 1
= (Zv+xsmxy)y = —ysmxy — 1=y = — :
2y + xsmxy
2xy 2(=1)(1) 1
2. 2y 4y =2= 2y 433+ 331 =0=2y = —————.50 )|, = ——=-.
Y+ v +x2y + 3y%) . T2 ) L1 T3 3
An equation of the tangent lineisy — 1 = % (x+1)ory= %x - %
— sinyy = v — (v +xy) = = 2y -
24. y = sinxy =y = (cosay) (v +2) = v = 1 —cosry w21y =0

An equation of the tangent lineis y —1=0(x— F)ory = 1.

28. tan (x 4 2y) — sinx = 1 = sec? (x +2y) (14 21') — cosx = 0.
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30. 37 =y =8= 37 -3 =0=y = .
J.F

Differentiating both sides of the next-to-last expression yields 6x — 6y {__v"jz —3y%y" =0

, 2 [x —y {__1:’}2} 2 [x -V (xz.-".""z) } 2x (yi — x3)

— Y= = = —
:P .1:2 J;Z J}j‘
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32. tany —xy = 0= (secz y) V-yv—xy=0=y = 2J— Dafferentiating both sides
. secy —x
!

: . P
of the next-to-last expression yields (2 sec? y tau_v) (v')" + (se:c:2 y) Vi—y -y - =0=

Vv v SEC‘2 Vian vy
/ 2 d N\ —T— 2 2
2y [1 — (sec vtan y) y ] sec2y —x secly —x 2y (sec V—X —ysecTytany
A - -

)

T seczy—x - seczy—x B (Seczy_xﬁ
2.9
S — 1
22, For /638. let f(x) = Jx anda = 64. Then f'(x) = T = S0
NE

L(x)= f(64)+ 1" (64) (x — 64) = /64 + (x — 64) = Tex+4.

2./64

Thus. +/63.8 ~ L (63.8) = 11_6 (63.8)+4 = 7.9875.

24, For sin0.1, let f(x) = sinx and @ = 0. Then /' (x) = cosx.

soL(x)= f(0)+ f(0)(x —0) = x. Thus. sin0.1 =~ L (0.1) =0.1.



Chap 2 Review

8. f (x)=6x2+2x.s0 f'(1)=8.

12. f(x) =

d(x+1)_{x—mu—{x+1){11_ 2

de \x —1 (x —1)2 __{I—l)z

. 312 : .2 =2
(1—1¢1/2) (1—1¢1/2) 2(1— %)

1/2 2(_1,-1/2 .- : _ _
16. o d( - (1-r2)en—2(=3'2) 22824152 1(4-347)
. W = =— - == - - - = _— o
(h‘ 1_{].;2.

d
18. /' (x) = — (xtanx 4 secx) = tanx + x sec? x + secx tanx

dx

20. v/ — d (1 — 51'11:4:) _ (14+smx) (—cosx) — (1 —sinx) (cosx) _ 2cosx
- dx \ 1+ sinx (1 + sinx)? (14 sinx)?
40. 17 [%} = cos (cosx) % {Cmﬂiﬂ-q = — (sinx) cos (cos x) | 4
o . . 5
= — (sinf) cos (cos &) = —-“sz—z cos JEQ ~ —0.538

52. f(x) =xtanx = f'(x) = tanx + x sec? x

2

— " (x) = sec? x + sec? x + 2x sec? x tanx :E(SEC‘}‘I]{1+ITEIHI]

= fﬂi%}zz(vﬁ)_ {_1+%]:'—1—|—ﬂ

54.;?{.1\!:'}‘-1}:;5}'3;{1“!:3-{1]»{{1} fﬁ\x}gf\:()-
g(x) [g{x}-l_
/ g2 2)-Ff2) Q2 @(-1)—(3)4 .
soh' (2) = _ __7

[g @] (2)? 2
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60. xy1/2 4+ x1/2 —1 = 0=« ( %

dv
y172 1)+}}1z+},(
dx

X d . ¥
= +2x1/2 =— (2912 + —
(v 1.") ) d", ( w xl;.lz

X + 2x1/2y1/2 dy 2512912 4y
_ _ y'~+.
_1."!1-" 2- dlx xl;’?

/ dy 1,
.—1_1-2) + _vx]...;]. — ﬂ

dy 2/xy + vy
dx  xJx+2x /¥
dy
66. cos? x + sin? y=1= (2cosx)(—sinx) + (2siny cos y) == 0
X

n’]f SINX COS X

~dx ~ Sinycosy
78. Differentiating implicitly, we havex + /Xy +y =6 =1+ 3 {u}_] “(v+x)+y =0

Ifx =y =2.thenwe have 1 + 5 (;) (242 )+ =0= 3y = —1. so an equation of the

tangent Ime1s y — 2 = —1(x — 2) & y = —x + 4 and an equation of the normal line is

v=—2=1l(x—-2)=y=x

: : cos 2x
80. sin2x 4+ cos2y = 1 = 2cos2x — (2sin2y)y = 0=y = =

sin 2y

,  (sin2y)(—2sin2x) — (cos2x) (2cos2y) ¥’
o=

2 sin 2x sin 2y + 2 cos? 2x cos 2y

(sin2y)?2 sin’ 2y



